
Ako su funkcije f, g : D → R derivabilne na skupu A ⊆ D , tada za svaki x ∈ A vrijedi

(f + g)′(x) = f ′(x) + g′(x)

(f − g)′(x) = f ′(x)− g′(x)
(f · g)′(x) = f ′(x) · g(x) + f(x) · g′(x)(
f

g

)′
(x) =

f ′(x) · g(x)− f(x) · g′(x)
g2(x)

, g(x) 6= 0.

Tablica derivacija elementarnih funkcija

(c)′ = 0, c ∈ R
(xα)′ = αxα−1, α ∈ R, x ∈ R

(loga x)
′ =

1

x
loga e, x > 0

(lnx)′ =
1

x
, x > 0

(ax)′ = ax ln a, x ∈ R (arcsinx)′ =
1√

1− x2
, |x| < 1

(ex)′ = ex, x ∈ R (arccosx)′ =
−1√
1− x2

, |x| < 1

(sinx)′ = cosx, x ∈ R (arctgx)′ =
1

1 + x2
, x ∈ R

(cosx)′ = − sinx, x ∈ R (arcctgx)′ =
−1

1 + x2
, x ∈ R

(tgx)′ =
1

cos2 x
, x 6= (2k − 1)

π

2
, k ∈ Z (ctgx)′ =

−1
sin2 x

, x 6= kπ, k ∈ Z
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